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wm = 2| B2 pntobitnuyn dwiuubiph inGinbuwghnwywt E = Junswywl pnigt | nlnuyhl pynigt

o =2 1353137 U3Y NALT3TV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8 9
AU _2@g°UA T12Eé°5s 63,766,652.5 63,487,428.5 2,399,526.4
2100|010 | 0 AU _p202a08 'UépUAE p208=20£U 7,248,632.9 6,720,337.1 528,295.8
T12&20asAlas00°s

31 ATa0

2110|01| 1 | O | GA»Yé1cA = -4AF31CA UBAUCYY»A, 6,820,587.3 6,514,191.5 306,395.8
A»T313Y I'36373A40U, yCY3Ve3I3Y
hwpyuwpmpbuwnuyghl hwpwpbpnipniGGGp,
wnunwphl hwpwpbpnipiniGGGN
&RCo

2111|01| 1 | 1 |GA»Y&EICA ~ -ART321CA UBAUCYY»f, S»r3T3Y 6,820,587.3 6,514,191.5 306,395.8
T=3é631340U
31 ATa0
1. T3E373AU3Y U3A0YC &3NE3Ya00 6,623,587.3 6,512,191.5 111,395.8
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 3,866,518.5 3,866,518.5 -
NS T»E3Tx3AY»f
- a3f- "3 rhalY»f, 1AS03T3Y EASE4ie400Y»f ° 4112 523,782.2 523,782.2 -
N3waT Tx3AY»A
- 846C3E2T3Y 233(AT40AI3Y Tx3AY»A 4131 552,912.1 552,912.1 -
- WY»A-»WCT 1263(a0AIa6YY»f 4212 163,207.6 163,207.6 -
- Tal&sY3t 1=363{a0AlasyY»h 4213 15,734.7 15,734.7 -
- T2AC 1363{a0AlasYY»h 4214 163,094.7 163,094.7 -
- 2830473 -A3T3Y I3Eé»A 4215 6,144.0 6,144.0 -
- &siuC T eSAUBTARAUY»AC TROST3ta0AlasY 4216 128,176.0 128,176.0 -
- 2iw=2e3(03Y[3Y - 4AT14i040UY»AC - TaT TSEé»f 4222 81,712.0 81,712.0 -
- 1 3AEST3Y 13¢3(a0Ala0Y Y»h 4231 2,762.1 2,762.1 -
- D3U3T3A-53(CY 1363(40Ala5YY»h 4232 31,879.6 31,879.6 -
- 2RE3TST3LUC UBEY3-Crr3T3Y %3h - 36U3Y 4233 5,915.0 5,915.0 -
1=3¢3{a0AlasY Y»h
- DO T3 TT3T3Y 1363(40AI85YY»h 4234 45,741.1 45,741.1 -
- T2E3T3E213Y 1363(a0Ala0YY»h 4235 11,000.0 11,000.0 -
- U»AT=3[=6400a3T3Y 13Eé»i 4237 100,263.9 100,263.9 -
- Canhwlntp pGnyph w)p SwrwjnunLtGbEn 4239 170,612.4 170,612.4 -
- @36Y=3-Cw3T3Y 13¢3[40Ala0YY»h 4241 11,644.4 11,644.4 -
- @HU»YRY»AC 630 TafaiUY»A¢ AYA=46CT 4252 226,904.6 226,904.6 -

Yaiia-ail - &a=N&a=vail
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=t ATai0
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= = 3 =g U»YA

wm = 2| B2 pntobitnuyn dwiuubiph inGinbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1353137 U3Y NALT3TV»AC SYT3YAUY»AA £
1 |23 |4 5 6 7 8 9

- MA=E»YIST3ICY YiaoA»A —~ N=- 408w 4261 81,985.3 81,985.3 -
- TASYEAAAT3ICY YiaoAx»f 4264 235,394.8 235,394.8 -
- T»Y6303(CY ~~ NS3YASICY eYY1C YiadAxf 4267 25,709.1 25,709.1 -
- D3TAT YAST3T2CY 3t ViasA»h 4269 3,150.0 3,150.0 -
- W Guwuwnbbp pinuobihg 4729 20,480.0 20,480.0 -
- A3AT31CA Tx3AY»f 4823 1,967.4 1,967.4 -
- 2[f I=Eé»h 4861 35,500.0 35,500.0 -
- T3EST3Y é3nu=T1analY»h 5122 111,395.8 - 111,395.8
2. Ywpswluwl opiiyuinGlph hhdGuwlGnpngntd 197,000.0 2,000.0 195,000.0
- b»YU»AC  T3640l6Y»AC AYAS6CT Yafia- il 4251 2,000.0 2,000.0 -
a=N&=vail
- P»YU»AC ~ RCYASAIAGYY»AC TSACT St T»A3Yana-4U0 | 5113 195,000.0 - 195,000.0

2130|01 | 3 | O |2anhwGnip pGnyph Sweuynipint GGG 41,695.6 41,695.6 -
&RCo

2131|101 3 | 1 |Ugfuwwnwlwadh /Yunpbnh/ génd plnhwonip pnyph 41,695.6 41,695.6 -
1=3¢3{a0AlasY Y»h
31 ATa0
1. 303036C313Y 13640A13Y STU»AC 41,695.6 41,695.6 -
-ASBYOU3Y I363(40AI3Y - 4ATA6Y»46AI3Y
I'33U31»A8400 (A3 T TCAZTTI3T
EC3YBAAAGAIAGY Y1)
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 28,788.8 28,788.8 -
N3 T»E3 Tx3AY»A
- @40C3E2T13Y 343NAT40AIBY Tx3AY»h 4131 6,256.6 6,256.6 -
- WY»A-»WCT 1263[a0AIa6YY»f 4212 2,645.8 2,645.8 -
- Tal&sY3t 1=363{a0AlasyY»h 4213 91.0 91.0 -
- T2AC 1363{a0AlasYY»h 4214 355.2 355.2 -
- 400G T eSAUSB TARAUY»AC TA0ST3E40Ala5Y 4216 804.0 804.0 -
- 1 3AEST3Y 13¢3[a0Ala0Y Y»h 4231 5.0 5.0 -
- BrU»Y3Y»AC 83U TaRAUY»AC AYAS6CT 4252 302.6 302.6 -
Yafia- 4ol &a=N&=Yail
- TASe»YI=T3ICY YidsA»A ~ N=- 456w 4261 2,165.7 2,165.7 -
- T»Y6303(CY ~~ NS3YASICY eYY1C YiadAxf 4267 280.9 280.9 -

2150|011 | 5 | O |2anhwGnip pGnyph hwipughl 221,900.0 - 221,900.0
T36340AIa6YY»AC - IAT N» T3%41313Y
YIE3. [3cY SRE3T3Y0Y»A
&RCo
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=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 3 = AVIS(sYA
c = g 3 G Swhuubph wGnGuwghinwywa = ” G anwihG
w2 2| E 2 pnLbnwh( dwiuubnh wlnbuwghunwywt c= Junswyw pnigl | dnlnwghl pynegt
LT 133713 03Y NALTSIY»AC  3YT3YAUY»hA i
1 213 |4 5 6 7 8 9
2151|011} 5 | 1 |COnhwGnip pGnyph hwipuwih( Swewnipintbbtph 221,900.0 - 221,900.0
-TAT N> 03BaT3T3Y ~ V3E=- [3(CY
SRE3T3Y0Y»i
3 ATas0
1. USE3-I3cYy 3RE3T3Y0Y»A 203,900.0 - 203,900.0
- U3ES- 1B T 3%AT3T3Y 1SEéx»i 5134 203,900.0 - 203,900.0
2. OA"3Y 03030¢ -tE3idAN3T313-I¢ 18,000.0 - 18,000.0
xB - AwE6U
-U3ES- 1B 3ET3T3Y 1SEéx»h 5134 18,000.0 - 18,000.0
2160|011 | 6 | O |2aGnhwGnip pGnyph hwipuyhl X 164,450.0 164,450.0 -
T36340AIa6Y Y»ii (3IF 136»ACY 4831 13Ya0)
afce’
2161|01| 6 | 1 |COnhwGnip pGnyeh hwOpwihbG SwewntpnLGGEp (wy 164,450.0 164,450.0 -
138»ACY 383 13Y40)
3 ATas0
1. _ CUA6UY»A, N3I631CU460Y»A, 13T 3A3YC 53,950.0 53,950.0 -
4A4BRA0UY»AC = TxCEY»AC I»U I»A3uYYCE =
YApwpbl pnnnplbp GEpYyuywglbihu
E3NUBYIZ31 Ix3A400Y»A
- A3ATS31CA Tx3AY»f 4823 53,950.0 53,950.0 -
2. Qnyph Ghuwindwdp hpwyniGplbnph 110,500.0 110,500.0 -
-A3YSU3Y " I»O0» 13T T40AI3Y
TASBUBLAU3Y No o IB&T31 1x3A4d60Y»i
- @2V CU3T3Y 1363(40Ala5YY»h 4241 36,900.0 36,900.0 -
- A3ATS31CA Tx3AY»f 4823 73,600.0 73,600.0 -
2200|020 |0 a2pta20asAlasy 43,320.0 43,320.0 -
3 ATas0
2220|102 | 2 | 0 |@303036¢C313Y 8381 &3YaAla6Y 22,000.0 22,000.0 -
afce’
2221102 2 | 1 |@=03036C3T3Y A=3RwA3YaiAlasy 22,000.0 22,000.0 -
3 ATas0
1. #303036C313Y 830 E3YA0AI3YY 22,000.0 22,000.0 -
Sc31640Ala6Y
- Canhwlnip pGnyph w)p SwrwjnunLtGbEn 4239 1,000.0 1,000.0 -
- MA=E»YIST3ICY YiaoA»A —~ N=- 408w 4261 1,000.0 1,000.0 -
- 2t AYA=6CT 1A303/YaANY»A 4639 20,000.0 20,000.0 -
2250|102 | 5 | 0 |&3BUE3YA0AI40Y (3IF 136»ACY 483 1T3Y40) 21,320.0 21,320.0 -
afce’
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 3 = AVIS(sYA

c = g 3 G Swfuubph LG Y = ” anwihG

wm = 2| E2 pinLetinwih( dwiuubiph tlinuwghunwywt c= Junswyw pnigl | dnlnwghl pynegt

LT 1363T3R-U3Y NALTSIV»AC 3YT3VaiUV»A £

1 |23 |4 5 6 7 8 9

2251102 | 5 | 1 |a3Rwa3YaiAlasy (Sl 13e»ACY 43w T3Y4a0) 21,320.0 21,320.0 -
31 ATa0
1. %aA3T84C I3BU3I»A8U3YY Sc31040A46Y 21,320.0 21,320.0 -
- 400G T eSAUSB TaRAUY»AC TA0ST3E40Ala0Y 4216 1,800.0 1,800.0 -
- TASYEAAAT3ICY YiaoA»f 4264 1,020.0 1,020.0 -
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 18,500.0 18,500.0 -

2400(04|0 | O TUTeE2T20 p252" 25a0A0a000°8 13,229,337.5 17,245,765.3 (4,016,427.8)
31 ATa0

2420|104 | 2 | O | Miao03TYU»édAlaoy, 3Yr3é3icy 327,937.9 27,937.9 300,000.0
TYU»édoAlaoy, OTVanéaiAlasy
anéantacAlasy
Eleo)

2424|104 | 2 | 4 |aga-al 327,937.9 27,937.9 300,000.0
31 ATa0
1. 4éd-U3Y 63Y6¢ 136466400 ~ 327,937.9 27,937.9 300,000.0
I»A3YanAa - 46U
- P»YU»AC " T2é40l6Y»AC AYAS6CT Yana- ai0 4251 27,937.9 27,937.9 -
as3la=val
- P»YU»AG " RCYAAIASYY»AC T=é45645U 5112 300,000.0 - 300,000.0

2450|104 | 5 | 0 | TA=Y6&4AT 20,682,396.4 16,457,389.3 4,225,007.1
Elle)

2451104 | 5 | 1 |03Y=2&43Al3(CY WASYeAaAT 13,808,189.4 9,658,189.4 4,150,000.0
31 ATa0
1. Uupuywn-plivinlyw Swélh Ybpwilnpngnid L 4,130,283.7 4,130,283.7 -
43N&3YaiU
- P»YU»AC ~ T2é40l6Y»AC AYAS6CT Yana- ai0 4251 4,130,283.7 4,130,283.7 -
as3la=val
2. Uupwyun-punnlyuw swélh hhoGuwblnpngnid 200,000.0 - 200,000.0
- P»YU»AG ~ RCYABAIAYY»AC TBACT3E T»i=VYana-4l | 5113 200,000.0 - 200,000.0
3. OUABUBA»AC I»ASYAAE - 46U 14,000.0 14,000.0 -
- P»YU»AC " T2é40l6Y»AC AYAS6CT Yana- ai0 4251 14,000.0 14,000.0 -
as3la=val
4. D»Y3E3U»AC I»A3YA4A4 - 46U 119,000.0 9,000.0 110,000.0
- P»YU»AC " T=é40l6Y»AC AYAS6CT Yana- &i0 4251 9,000.0 9,000.0 -
as3la=val
- P»YU»AC " RCYASAIAGYY»AC TSACT 3t T»A3Yana-40U0 | 5113 110,000.0 - 110,000.0
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb _ﬂ = AVISU»YA

w2 3| 2 pntobitnuyn dwiuubiph inGinbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

o =2 1353137 U3Y NALT3TV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8 9

5. D»TCATY 3Y6400Y»AC 136466400 12,500.0 12,500.0 -
I»A3Y4ah4 - 46U
- P»YU»AC ~ T2é40l6Y»AC AYAS6CT Yana- &i0 4251 12,500.0 12,500.0 -
a=N&=vail
6. T3UAc3IcY 136406 i=IuY»AC 90,000.0 90,000.0 -
A3I3Y-Ya6U ~ §3N&3Yaol
- 2t I=Eé»i 4861 90,000.0 90,000.0 -
7. <pwqnuwl YhanAp pwpbluwpgnid 652,000.0 2,000.0 650,000.0
- Tal&sY3t 1=363{a0AlasyY»h 4213 2,000.0 2,000.0 -
- P»YU»AC ~ RCYASAIAGYY»AC TSACT St T»A3Yana-40U0 | 5113 650,000.0 - 650,000.0
8. I3[ia60CY»AC ~~ ~4046Y»AC 3,190,000.0 - 3,190,000.0
»A3136406400 ~ NCUY3Yanha - 460
- P»YU»AC " RCYASAIAGYY»AC TSACT St T»A3Yana-40U0 | 5113 3,190,000.0 - 3,190,000.0
9. 64046Y»AC E3NE3YAGU » T B3N=3 - 4AT460 70,000.0 70,000.0 -
- P»YU»AC  T=é40l6Y»AC AYAS6CT Yana- ai0 4251 50,000.0 50,000.0 -
a=N&=vail
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 20,000.0 20,000.0 -
10. Uuhwlwl pwllyph wowlygni puidp 4,730,405.7 4,730,405.7 -
CAZT3Y36ia0 u=30303lcy
»YAST36406 iZIuY»AC ~ u3030¢ 1346y
B3 - 36U3Y Y»A1AA0U3ICY TA3-CA
(BT ICAZTT3I EC3%4N40AI40YY»1i)
- 2t TSEé»h 4861 4,730,405.7 4,730,405.7 -
11. Uupwluil pwllyh wiguiligni pjundp 600,000.0 600,000.0 -
CAZT3Y36ia0 u=30303lcy
»YAST36406 IZIuY»AC ~ u3030¢ 1346y
B3f - 3603 Y»A1AAU3ICY IA=3-AC CAZ6U3Y
UCcd63640UY»r
- W Guwuwnbbp pinuobihg 4729 600,000.0 600,000.0 -

2455|04 | 5 | 5 |EaDAT3T3R3A3(CY ~ 3 TASYe&aAT 6,874,207.0 6,799,199.9 75,007.1
31 ATa0
1. F»AE3TY»AC NCUY3YAR4 - 46U 75,007.1 - 75,007.1
- 2[f U»U»Y3Y»fi ~ 63A0= TaR&0Y»h 5129 75,007.1 - 75,007.1
2. OA3YC U» TAAAEECT»YC SBE3ST3YOY»AC 1,767,951.1 1,767,951.1 -
I'33U=31»A8400 (A3 T TCASTTI3T
EC3YBAAAGAIAGY Y1)
- Untpuhnhwtn ng howluwywlb wyhnwywo 4511 1,767,951.1 1,767,951.1 -
(N=3U3{YU=ICY) T3%UST»AAA0AIAYY»ACY
3. I»A-»UVI3 (> IS TASYESANTAT 313,500.0 313,500.0 -
400873 =4E31A03Y [=363/40Al46Y
- Untpupnhwtp ng phowbuwywb weinwlwb 4511 313,500.0 313,500.0 -

(N=3U3YU=ICY) T3%UST»AAA0AIAY Y »ACY
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FAnnywdh
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AY13U»YA

=t ATai0

Jwpswywl pjniok

$nlnwyhl pynigki
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N

w

5

7

8

4. i»A3136460U3Y ~ %30 - S6U3Y

Gypnuwluwl pwlyh wowlgnipiudp

CA3TI3Y36i40 @A "3YC U» T AEREECT»YC

I»A3136460U3Y »AlAaAL [A3-CA

(B3TTICAZIT3I EC344740AI46YY»H)

364,294.2

364,294.2

- 2t [3Eeé»fi

4861

364,294.2

364,294.2

5. Gypnwwluwb Gepnpnidughl pwiGlyh

wowlygnigyudp hppwlwlwgynn Gplwhh
U» TAEBEFCT»YC Ir»A3136466U3Y IA3-CA

(B3TTICAZIT3I EC334740AI46YY»H)

1,994,580.2

1,994,580.2

- 2t [3Ee»fi

4861

1,994,580.2

1,994,580.2

6. CiAaa =13y UCa6AI=3Y N3ii—3YA6AI=Y

Gbpnpnduyhl 6pwgnh wigwilygni puidp

CA3I3Y36i40 @A "3YC U» T AEEEECT»YC

I»A313640003Y 1A3U3RY4AN3ICY TA3-CA

(B3TTICAZIT3I EC334740AI46YY»H)

1,994,580.1

1,994,580.1

- 2t [3Ee»fi

4861

1,994,580.1

1,994,580.1

7. Gypnuuwluit GEpnpnidughl pwiGlyh

wowlygnigyudp hppwywlwgynn Gplwih

U» TAZEEECT»YC I»AZ136400U3Y »AlAant

[A3-CA (A3TTICAZT T3 EC3Y%AaAa0AlIa6Y Y»h)

364,294.3

364,294.3

- 2t [3Eé»fi

4861

364,294.3

364,294.3

2490

04

SlGwnbuwlwl hwpwpbpnpiniGGGn (wy;
13»ACY 44371 T3Y40)

(7,780,996.8)

760,438.1

(8,541,434.9)

anco’

2491

04

SOnbuwywb hwpwpbnnipntbbbp (w), nwubphl
4A3T1=2Y40)

(7,780,996.8)

760,438.1

(8,541,434.9)

=t ATai0

1. _ A4BY»AC W »031A460

73,000.0

53,000.0

20,000.0

- 2[f AYA=6CT 1A=3U3RYAANY»A

4639

53,000.0

53,000.0

- UlaoA»ii ~~ == - =Y»fi

5221

20,000.0

20,000.0

2. 2c31640AI46Y N3U3Ya3icy
I3BU31»A840AI46YY»ACY

NasO3AT3 14Aa0AIA6YY»AC N» 1 IS&T =1
3Yix3[ [36340Ala0YY»AC U3 186003y
»i»BUBY3TY»AC A3SNE3YU3Y N3U3A

22,920.0

22,920.0

- AYAS6CT 1A303RYAANY»A &> T=T3Y
N=0=Yav»Ac aa =& rA=icY
T34 T»A&4&0AIAYY»ACY

4637

22,920.0

22,920.0

3. T363T73[U3Y ~ I»Or 1317313y
T EYEFa-C3Y»AC %31 - 36400

100,000.0

100,000.0

- Untpuhnhwtn ng howluwywlb wyhnwywo
(N=3U3{YU=ICY) T3%UST»AAA0AIAYY»ACY

4511

100,000.0

100,000.0
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=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 2 = AVIZ(»VA
= = 3 =g U»YA
wm = 2| B2 pntobitnuyn dwiuubiph inGinbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt
LT 1363T3R-U3Y NALTSIV»AC 3YT3VaiUV»A £
1 |23 |4 5 6 7 8 9
4. 2¢c31o40Alasy N=U3Yu3icy 44 150,000.0 150,000.0 -
N3U3BIYa3ICY 13303 T»A880AI80Y Y»AC
IA3- A»AC y
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 150,000.0 150,000.0 -
5. &4 yCY3YVEST3Y SIaCiY»AC G 3A400C6 (8,600,000.0) - (8,600,000.0)
DELE il
2(p25A Taotlek £520A0BL0 BATEOd 8111 (1,300,000.0) - (1,300,000.0)
PaOK £520a00/£0 BAITEOD 8411 (7,300,000.0) - (7,300,000.0)
6. O3y 03030C I3AF313Y 63NU3YY»AC 38,565.1 - 38,565.1
xB- AT &0
- P»YU»AC " RCYASAIAGYY»AC TSACT St T»A3Yana-40U0 | 5113 38,565.1 - 38,565.1
7. D3E6»3TaAU3Y SPEST3YAY»h 171,075.0 171,075.0 -
- Canhwntp pOnyph w)p SwrwjnunLGbEn 4239 171,075.0 171,075.0 -
8. §»0»6CT A3y} IA=-AC CAST3Y3640U 64,680.0 64,680.0 -
- T3ACT =3t 1A3U3/YaANY»A UCe3Y- 3(CY 4622 64,680.0 64,680.0 -
T34 T»A&40AIA0YY»ACY
9. A3AW3ICA Ix3AY»AC - 3YOU3Y 78,763.1 78,763.1 -
I363J46A146YY»hA
- Canhwntp pOnyph w)p SwrwjnunLGbEn 4239 78,763.1 78,763.1 -
10. U»A1A4603ICY [A3 - A»AC CAZT3Y3646U 120,000.0 120,000.0 -
- DO TITTST3Y 1363[40Ala0YY»A 4234 20,000.0 20,000.0 -
- Untpuhnhwtn ng howluwywlb wyhnwywo 4511 100,000.0 100,000.0 -
(N=3U3{YU=ICY) T3%UST»AAA0AIAYY»ACY
2500(05|0 | O pdx2T2 GE=21206k 42pTa20acAlasu 7,044,532.4 6,890,037.6 154,494.8
31 ATa0
2510|105 | 1 | O |Unpwhwlntd 5,015,936.8 5,015,936.8 -
&RCo
2511|05| 1 | 1 |UnpwhwGnLd 5,015,936.8 5,015,936.8 -
31 ATa0
1. Unpwhwlnpinib L uwGhnwpwlwi 5,015,936.8 5,015,936.8 -
U=0A46U0
- Tal&sY3t 1=363{a0AlasyY»h 4213 5,015,936.8 5,015,936.8 -
2530|05 | 3 | 0 |PAC3T=3 UCc3T3IA¢C S0TaTU3Y 150 &3I031 41,110.1 41,110.1 -
&RCo
2531|105 | 3 | 1 |G2C 20WATU3Y 1»0 &3(0=h 41,110.1 41,110.1 -

=t ATai0
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 3 = AVIS(sYA

c = g 3 G Swfuubph LG Y = ” G

wm = 2| E2 pinLetinwih( dwiuubiph tlinuwghunwywt c= Junswyw pnigl | dnlnwghl pynegt

o =2 1353137 U3Y NALT3TV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8 9

1. I» U »AC NasY»A¢ U3uAdil 41,110.1 41,110.1 -
- TaUasY3t 1=36=3(a0AlasYY»f 4213 41,110.1 41,110.1 -

2560 |05 | 6 | 0 |PAC3T=3 UCc3T3IA¢ &38TE3Ya0AlaY (3 1,987,485.5 1,832,990.7 154,494.8
13»ACY 48371 T3Y40)
Eli[el)

2561|05| 6 | 1 |Pfc3T= UCc3T3IAC A=RWASYAIAIATY (Sl 13ex»AcY 1,987,485.5 1,832,990.7 154,494.8
3&371=Ya0)
3 ATas0
1. T3Y34 T3A310Y»AC NCUYAdU 1,311,256.3 1,232,032.3 79,224.0
a3NE3va00
- TaUasY3t 1=36=3(a0AlasYY»f 4213 1,187,032.3 1,187,032.3 -
-D3WAT YA 213(CY 3/ VidsA»h 4269 5,000.0 5,000.0 -
- AYAS6CT 1A303RYAANY»A & T=T3Y - 4638 40,000.0 40,000.0 -
N=20=Vo=CY =3¢ wASICY T3S T»AA40AIA5YY»ACY
- P»YU»AC * RCYADAIAGYY»FAC T3é40040U 5112 79,224.0 - 79,224.0
2. ZET3N3YU3Y ~ UCc3T3»AlUu3yY 47,615.4 47,615.4 -
I 36340440V Y»ii /1»63 0 CH36C3
- TaUasY3t 1=36=3(a0AlasYY»f 4213 47,615.4 47,615.4 -
3. P3E3A3I3I3Y 346 - BA3YY»AC 3,343.0 3,343.0 -
&3NE3Ya0U ~~ i»A3YAana - 46U
- TaUasY3t 1=36=3(a0AlasYY»h 4213 3,343.0 3,343.0 -
4. ECH3U3-»AC éU»01400 " I301383 1460 405,270.8 330,000.0 75,270.8
- D=1 AT YAS=1=(CY =i YiasA»h 4269 330,000.0 330,000.0 -
- P»YU»AC ~ RCYASAIAGYY»AC TSACT St T»A3Yana-400 | 5113 75,270.8 - 75,270.8
5. A3-+3640 I»Y13YCY»AC IY363Y»Alaol 220,000.0 220,000.0 -
- 2t I=Eé»i 4861 220,000.0 220,000.0 -

2600|06|0 |0 ~U=2126202U£U PEU2528a0A0a0U ©1 11,250,346.1 6,650,404.0 4,599,942.1

TagasU=2t 12e20a0A0a000°8

3 ATasu

2610|06 | 1 | O | "YSIBA3Y3(CY BCY3A3AA0AI40Y 2,284,600.0 34,600.0 2,250,000.0
Eli[el)

2611|106 | 1 | 1 |~ YST3A3Y3(CY RCY=A=Aa0AlasY 2,284,600.0 34,600.0 2,250,000.0
3 ATas0
1. £YQY313U 13640I6Y»AC 03V 1460 34,600.0 34,600.0 -
- 2[t AYA=6CT 1ASUSRYARNY»A 4639 6,000.0 6,000.0 -
- 2t I=Eé»i 4861 28,600.0 28,600.0 -
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 3 = AVIS(sYA

c = g 3 G Swfuubph LG wlywa = ” G anwihG

wm = 2| E2 pnebnuh( dwiuubinh wlntuwghinwywt E= Junswyw pnigl | dnlnwghl pynegt

o =2 1353137 U3Y NALT3TV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8 9

2. 44AA4A1 3ETCx3YC TAZA3ICY B» YurAC 1,250,000.0 - 1,250,000.0
U3Y1U3Y N»13Yuar
pawlywnwpwdénipim GG6phg gnyyduwd
pGwlhsGEph thnfuhunnigdwld hwdwn
B»YO»AC 136406450
- P»YU»AC * RCYADAIAGYY»FAC T3é40040U 5112 1,250,000.0 - 1,250,000.0
3. A4AA4AT 36T Cx3YC TASA3ICY Br»Yur»AC 1,000,000.0 - 1,000,000.0
U3Y1U3Y N» 1~ 3Y0ar
pawlywnwpwdénipim GG6phg gnyyduwd
pGwlhsGEph thnfuhuwnnigdwld hwdwn
plLwlwpwlGbph dGrpplinnid
- GLlpbnh L 2hbnipynibbtnh dGrppEnnLd 5111 1,000,000.0 - 1,000,000.0

2630|06 | 3 | 0 |@A3U3T313A=3A4U 3,925,229.8 3,925,229.8 -
Eli[el)

2631|06| 3 | 1 |=A303T3T3/3A40 3,925,229.8 3,925,229.8 -
3 ATasu
1. <wdupfuwphuyhl pwlGyh wouwlygnipiudp 94,171.6 94,171.6 -
CAZT3Y361a0 @A 3Y¢ cASU3T3I3A3AU3Y
" cASN»E36U3Y IA3-CA (3T TCA3IT3T
EC318AA6AIAGY Y» 1)
- 2t [3Eeé»fi 4861 94,171.6 94,171.6 -
2. UA3YEC3IC P3YASE» T 40AI3Y 3,831,058.2 3,831,058.2 -
Yupwwipni pjuwl wowlgni pjudp
CAZT3Y36140 OA 3Y¢ cASUST3I3A3AU3Y

" cA3N»é3603Y IA=3-ACY TA3U31AT40

TEYCISI3Y 3¢31646AI3Y [A=3-CA
(B3TICA3TT31 LC3%AAAAIAGY Y1)
- 2t I=Eé»i 4861 3,831,058.2 3,831,058.2 -

2640|06 | 4 | O | 64046Y»AC Fa663FaRdiU 2,026,000.0 1,696,000.0 330,000.0
Eli[el)

2641|06 | 4 | 1 |6a0a6Y»fiC Fase=Tanasy 2,026,000.0 1,696,000.0 330,000.0
3 ATas0
1. 2AT30CY 4063 T4A80AI3Y 63Y6C 180,000.0 - 180,000.0
NCUY=3Yai4 - 460
- P»YU»AC ~ RCYASAIAGYY»AC TSACT St T»A3Yana-4iU0 | 5113 180,000.0 - 180,000.0
2. 2AT30CY F4063T4AE0AIBY 63Y6C 1,696,000.0 1,696,000.0 -
B3N=3-4AIU3Y ~ §3NE3YU3Y
BRE3T3Y0Y»A
- 2t I=Eé»i 4861 1,696,000.0 1,696,000.0 -
3. P»YOU»AC -»03Ai»E 0 313Y 4063 FaAdoU 150,000.0 - 150,000.0
- P»YU»AC " RCYASAIAGYY»AC TSACT 3t T»A3Yana-40U0 | 5113 150,000.0 - 150,000.0

2650|06 | 5 | 0 | "YSI3A3Y3(CY BCY3AZAE6AIBY ~ 1a046Y3F 6,000.0 - 6,000.0

T36340AIa6YY»AC - IAT N» T3%41313Y
YSES. [3gY SREST3Y0Y»i

anco’
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 2 = AVIZ(»VA

= = 3 = U»YA

wm = 2| B2 pntobitnuyn dwiuubiph inGinbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1363T3R-U3Y NALTSIV»AC 3YT3VaiUV»A £
1 |23 |4 5 6 7 8 9

2651|06 | 5 | 1 |“YST3ASY(CY RCYSASAAGAIBY ~ Talasy3t 6,000.0 - 6,000.0
1263[a0AlasYY»AC - TaT I» W S3a 313y
YSE=.-I3(CY SREST3YUY»A
3t Ata0
1. b»Yu»A¢ ~ BCYAGAIAGYY»AC N» 13440 U3Y 6,000.0 - 6,000.0
BBE3T3YuY»A
- USES- 13 r3%ar3T3Y I3Eé»f 5134 6,000.0 - 6,000.0

2660|06 | 6 | O | “YSISAIY3CY BCY3AZAA0AIBY ~ TAUAGY3E 3,008,516.3 994,574.2 2,013,942.1
T36340AIa6YY»i (3l 13é»ACY 4831T3Y40)
Elle)

2661| 06| 6 | 1 |~ YST3A3Y=(CY RCYSA=AAAIBY ~ Talaoy =t 3,008,516.3 994,574.2 2,013,942.1
1=3¢3a0AlasYY»A (3l 13eé»ACY 3831 1T3Y40)
3t Ata0
1. Pwquiwplwuwpw 264GpGph hwnpe 218,984.2 218,984.2 -
T3YCUY»AC i»A3YanAa-asl
- P»YU»AC  T=é40l6Y»AC AYAS6CT Yana- ai0 4251 198,984.2 198,984.2 -
as3la=val
-D3TAT YAST3T3(CY 3 ViasA»h 4269 20,000.0 20,000.0 -
2. Pwqdwplwlwpwl 260pbph pbp 71,300.0 31,300.0 40,000.0
T3YCUY»AC i»A3YanAa-asl
-D3WAT YA 213(CY =3 VidsA»h 4269 31,300.0 31,300.0 -
- P»YU»AC ~ RCYASAIAGYY»AC TSACT St T»A3Yana-40U0 | 5113 40,000.0 - 40,000.0
3. “3I3icYy w3A=IaY»Ac 944,432.1 72,990.0 871,442.1
E303NA383A31Y»A¢ NCUY3Yaia - 460 46
a3N43vaiU
- P»YU»AC ~ T=é40l6Y»AC AYAS6CT Yana- ai0 4251 18,990.0 18,990.0 -
as3la=val
-D3WAT YA 213(CY =3/ VidsA»h 4269 54,000.0 54,000.0 -
- P»YU»AG " RCYAAIASYY»AC T=é46645U 5112 120,000.0 - 120,000.0
- P»YU»AC ~ RCYASAIAGYY»AC TSACT 3t T»A3Yana-40U0 | 5113 721,352.1 - 721,352.1
- 2t U»U»Y3Y»i  63A0STaiailY»A 5129 30,090.0 - 30,090.0
4. Pwqiwplwlwpwl 260p6ph pupbywngiuwl 1,357,000.0 254,500.0 1,102,500.0
3 BRE3T3Y0Y»A
- P»YU»AC " T2é40l6Y»AC AYAS6CT Yana- ai0 4251 110,000.0 110,000.0 -
as3la=val
-D3WAT YA 213(CY =3/ VidsA»h 4269 3,500.0 3,500.0 -
- Untpuhnhwtip ng wbunwywa (ng hwduwyGpwihl) ng 4521 141,000.0 141,000.0 -
YCY3YE3T3Y T340 T»AA4&0AIA0Y Y»ACY
- P»YU»AC " RCYASAIAGYY»AC TSACT 3t T»A3Yana-40U0 | 5113 1,102,500.0 - 1,102,500.0
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 3 = AVIS(sYA

c = g 3 G Swfuubph LG Y = ” anwihG

w2 3| E 2 pintgbnwhG wfuutph nbnbuwghunuwywb o= Jupswlwl pniet | $nlnuyht pjniek

LT 1353137 U3Y NALT3TV»AC SYT3YAUY»AA £

1 |23 |4 5 6 7 8 9
5. 2A3(cY 136466 Y»AC B3N=-4AT400 300,000.0 300,000.0 -
a3N83vaoU
- 2t I=Eé»i 4861 300,000.0 300,000.0 -
6. T3A63I30Y»iAC A3NE3Y4iU 30,000.0 30,000.0 -
- AYA=6CT 1A=U3RYAANY»A S» W 3T3Y 4638 30,000.0 30,000.0 -
N=20=Vo=CY =3¢ WASICY T3S T»AA4&0AIA5YY»ACY
7. T3U3A3Y0400Y»AC I»AZYAA4 - 460 = 86,800.0 86,800.0 -
- 40Y 3331460
- b»YU»AC  T3640l6Y»AC AYAS6CT Yafia- il 4251 86,800.0 86,800.0 -
a=N&=vail

2700070 | O 2ga0x2a2pastAlasy 352,643.5 60,000.0 292,643.5
3 A1a0"

2710|07 | 1 | O | “ABI3I3Y 3&A3YuY»A, 63A0»A 60,000.0 60,000.0 -
E3AU3TaAa6UY»hA
&RCo

2711107 | 1 | 1 | »0=-aR13T3Y S&A3YUY»h 60,000.0 60,000.0 -
3 A1a0"
1. 2c31640AI46Y 2640c383N313Y 60,000.0 60,000.0 -
Yuquwlbpwnipint 6GGphG pdoyuljuil
uwnpwynpnidabph d6rppbndwl hwdwp
- T3ACT3E 1ASUSRYAANY»A &» 1 3T3Y 4656 60,000.0 60,000.0 -
N=20=lYo=CY =3¢ wASICY T3S T»AA4&0AIA5YY»ACY

2760 |07 | 6 | 0 | 2640¢c3&3NadAla6Y (3IF 13é»ACY 292,643.5 - 292,643.5
1&3113Y40)
&RCo

2761|07 | 6 | 1 |2640¢=2a=3N=T=3Y N=3A3T06 1363a0Ala0YV»h 292,643.5 - 292,643.5
= - finfi
3 A1a0"
1. Upnnowwwhwlwl opilyinGbph 272,643.5 - 272,643.5
NeUY=3Yana - 460
- P»YU»AC ~ RCYASAIAGYY»AC TSACT St T»A3Yana-4iU0 | 5113 272,643.5 - 272,643.5
2. Upnnowuwwhwlwl opllyinGliph 20,000.0 - 20,000.0
A»USN3AAZSTY»AC 136466460
- P»YU»AG " RCYAAIASYY»AC T=é45645U 5112 20,000.0 - 20,000.0

280008 |0 | O p=20v£eT, Zp2TaolA @i Taau 1,943,112.8 1,702,534.8 240,578.0
3 A1a0"

2810|08| 1 | 0 |P3Y-67C ~ 634ATC 36340446V Y»i 246,675.8 146,675.8 100,000.0
&RCo

281108 | 1 | 1 |D3Y-6WC " eR4AAWC 1=3¢3[a0AlasYY»h 246,675.8 146,675.8 100,000.0
3 A1a0"
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=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 2 = AVIZ(»VA
[ 2 3 =t U»YA
wm = 2| B2 pntobitnuyn dwiuubiph inGinbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt
LT 1353137 U3Y NALT3TV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8 9
1. 884AT3ICY UCcd63646UY»iAC 84,675.8 84,675.8 -
13503 1»i&a0U0
- Canhwntp pOnyph wyp SwrwjnunLGbEn 4239 5,508.0 5,508.0 -
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 79,167.8 79,167.8 -
2. <wlbquunh qnunhlbph L qpnuuwyghlbbph 162,000.0 62,000.0 100,000.0
126400400 46 83NE=3Y4dU
- b»YU»AC  T3640l6Y»AC AYAS6CT Yafia- il 4251 22,000.0 22,000.0 -
a=N&=vail
- 2[f AYA=6CT 1A=U=3RYAANY»f 4639 40,000.0 40,000.0 -
- P»YU»AG " RCYAAIASY Y»AC T=é46645U 5112 100,000.0 - 100,000.0
2820|08 | 2 | O |@B3T40A3IcY [36340AI40YY»A 1,673,837.0 1,533,259.0 140,578.0
&RCo
2821|108 | 2 | 1 |TASISASYY»A 287,645.5 287,645.5 -
31 ATa0
1. YA3I3A3Y3CY [363A0AIA6Y Vi 287,645.5 287,645.5 -
- Untpuhnhwtn ng howluwywlb wyhnwywo 4511 287,645.5 287,645.5 -
(N=3U3YU=ICY) T3%UST»AAA0AIAY Y »ACY
2822|108 | 2 | 2 |A3Y-3A3VY»i ~ 646636A=NY»A 203,656.1 203,656.1 -
31 ATa0
1. A3Y-3A3Y3cY [363J46AIa6YY»hA 193,656.1 193,656.1 -
- Untpuhnhwtn ng howluwywb wyhnwywo 4511 193,656.1 193,656.1 -
(N=3U3YU=ICY) T3%UST»AAA0AIAY Y »ACY
2. A3Y-3A3YY»iC I»A3136406460 10,000.0 10,000.0 -
3[1C3I3Y36460
- T2E3T30E213Y 1363(a0Ala0YY»h 4235 10,000.0 10,000.0 -
2823|108 | 2 | 3 |Uwynyph wnbbp, wynidpltn, YGupnbGtn 155,831.9 67,753.9 88,078.0
31 ATa0
1. D3U3Ya3IcY UBZTE0AC —~ 3331 ASU3Y6C 67,753.9 67,753.9 -
13503 1»i&a0U0
- Untpuhnhwtin ng howluwywlb wyhnwywo 4511 67,753.9 67,753.9 -
(N=3U3YU=ICY) T3%UST»AAA0AIAY Y »ACY
2. DB3T46IAC W Y»AC NCUY3Yah& - 60 88,078.0 - 88,078.0
I»A3Y4ahA4 - 46U
- P»YU»AC ~ RCYASAIAGYY»AC TSACT 3t T»A3Yana-40U0 | 5113 88,078.0 - 88,078.0
2824|108 | 2 | 4 |2 UB3TAASICY T3S T»AAA0AIAYY»fi 670,786.4 620,786.4 50,000.0

=t ATai0
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=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 2 = AVIZ(»VA
= = 3 =g U»YA
wm = 2| B2 pntobitnuyn dwiuubiph inGinbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt
LT 1353137 U3Y NALT3TV»AC SYT3YAUY»AA £
1 |23 |4 5 6 7 8 9
1. DBRZTE0A3ICY UCcA63E6400Y»AC 426,148.7 426,148.7 -
CASI3Y3646U
- 400G T eSAUSB TAaRAUY»AC TA0ST3E40Ala0Y 4216 2,400.0 2,400.0 -
- CanhwGntp pOnyph wyp SwrwjnunLGbtn 4239 41,358.7 41,358.7 -
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 382,390.0 382,390.0 -
2. YGhnwlwpwlGwlwl uygnt 194,637.7 194,637.7 -
040031AZ0AIA0Y Y»A
- Untpuhnhwtn ng howluwywlb wyhnwywo 4511 194,637.7 194,637.7 -
(N=3U3YU=ICY) T3%UST»AAA0AIAYY»ACY
3. Ybhnwlwpwlwlwl uygni hhdlGuwlnpngntJ 50,000.0 - 50,000.0
- P»YU»AC ~ RCYASAIAGYY»AC TSACT St T»A3Yana-4U0 | 5113 50,000.0 - 50,000.0
282508 | 2 | 5 |2fi»eW 315,717.1 315,717.1 -
31 ATa0
1. CABARTBAMETC ~ A3A3AI»61C 73,700.3 73,700.3 -
N3U»A- Y»i
- Untpuhnhwtin ng howluwywlb wyhnwywo 4511 73,700.3 73,700.3 -
(N=3U3YU=ICY) T3%UST»AAA0AIAY Y »ACY
2. AST»A3I3Y Y»AI3[36400Y»h 236,016.8 236,016.8 -
- Untpuhnhwtn ng howluwywb wyhnwywo 4511 236,016.8 236,016.8 -
(N=3U3YU=ICY) T3%UST»AAA0AIAY Y »ACY
3. §OAYA 2012 AT3I3YCY -AuC 6,000.0 6,000.0 -
N3U3BE3AN3IcY U3IA=303030!
UCcdd=36U=3Y CAST=Y30640U
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 6,000.0 6,000.0 -
2827|108 | 2 | 7 |PAIRZAOZYY»AC ~ URSTAAZICY SAA»UY»AC 40,200.0 37,700.0 2,500.0
»AST3Y - Yail ~ a3(a&3yvail
31 ATa0
1. PAORZA03YY»AC T»A3Yana-ail 40,200.0 37,700.0 2,500.0
a3N83vaoU
- Canhwlnip pGnyph w)p SwrwjnunLtGbEn 4239 14,700.0 14,700.0 -
- b»YU»AC  T3640l6Y»AC AYAS36CT Yaria- il 4251 23,000.0 23,000.0 -
a=N&=vail
- P»YU»AC ~ RCYASAIAGYY»AC TSACT St T»A3Yana-40U0 | 5113 2,500.0 - 2,500.0
2840|08 | 4 | 0 | TAZY=313Y =~ N363A31313Y 3[f 22,600.0 22,600.0 -
[ 263/40A40YY»A
&RCo
2843|08 | 4 | 3 | TRAYST3Y ~ (=e3a3T3T3Y 3 1263(40Al46YY»A 22,600.0 22,600.0 -
31 ATa0
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=t ATai0

ey
= 2 A =) pwdhbltnh, fudptph L nwutph, hbswtu Gub E AV1SIaYA
=2 BIE 3 pIntottnwhG Swiuubinh iGnbuwghiwywl 25 AP quinswywo pniet | nlnwihl pniet
ol =2 1363T3R-U3Y NALTSIV»AC 3YT3VaiUV»A £
1 |23 |4 5 6 7 8 9

1. 2Y13(3T646AI3Y Tx3AY»h 22,600.0 22,600.0 -
- UTCA3T Ta0AladYY»fi [ B340l all» 1347140 4819 22,600.0 22,600.0 -
I3%LU=T»NAA0AIA0Y Y»ACY

2900|090 | 0 TaAaAUasU 19,332,781.4 18,732,781.4 600,000.0
=1 A4

2910(09 | 1 | 0 |USBES314046313Y ~ T30A313Y AY1N=Yaoi 10,375,162.6 10,375,162.6 -
1AA4dAiaey
afce’

2911|109 | 1 | 1 |USE=14/46=3T3Y TnA4sAlasY 5,386,068.0 5,386,068.0 -
=1 A4
1. UBE3150(46313Y 466466460 5,386,068.0 5,386,068.0 -
-NUn}pqhnth({br]_nz jgh(_JEuUqu}yU gquu.gl.{uj[x 4511 5,386,068.0 5,386,068.0 -
(R=20=lYu=iCY) T3RUST»A&A0AIEYY»ACY

2912|109 | 1 | 2 | T3AAST3Y AY1N=Yaon TRAaGAIASY 4,989,094.6 4,989,094.6 -
=1 A4
1. D3YASIAAZT3Y 406400400 4,644,690.4 4,644,690.4 -
- Canhwlnip pGnyph w)p SwrwjnunLtGbEn 4239 4,644,690.4 4,644,690.4 -
2. D37 461 17AaoAlasy 97,076.9 97,076.9 -
- Canhwlnip pGnyph w)p SwrwjnunLtGbEn 4239 97,076.9 97,076.9 -
3. U»A=36313Y IAAdoAlasy 247,327.3 247,327.3 -
- Canhwlntp pGnyph w)p SwrwjnunLtGbEn 4239 247,327.3 247,327.3 -

2920|109 | 2 | O |@CeY3TI3A- AYIN3YAGA THAAd6AIa6Y 6,632,298.2 6,632,298.2 -
Elle)

2921|109 | 2 | 1 |PCUY3T3Y AY1N=3Yasn TRAasAIAsY 5,786,550.7 5,786,550.7 -
=1 A4
1. D3YASIAAZT3Y 406466400 5,396,106.2 5,396,106.2 -
- Canhwntp pOnyph w)p SwrwjnunLGbEn 4239 5,396,106.2 5,396,106.2 -
2. D37 461 1iAaoAlasy 175,760.4 175,760.4 -
- Canhwlnip pGnyph w)p SwrwjnunLtGbEn 4239 175,760.4 175,760.4 -
3. U»A=36313Y IAAdoAlasy 203,446.6 203,446.6 -
- Canhwlntp pGnyph w)p SwrwjnunLtGbEn 4239 203,446.6 203,446.6 -
4. CA»T4I=3Y 1hAdoAlasy 11,237.5 11,237.5 -
- Canhwnip pGnyph w)p SwrwjnunLGbtn 4239 11,2375 11,2375 -

2922109 | 2 | 2 |@CeY=3T=3d- (FACT) AV1N=Vasn TrA&oAlasY 845,747.5 845,747.5 -

ST
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 2 = AVIZ(»VA

= = 3 =g U»YA

wm = 2| B2 pntobitnuyn dwiuubiph inGinbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1353137 U3Y NALT3TV»AC SYT3YAUY»AA &
1 12 |3 |4 5 6 7 8 9

1. D3YASTAASI3Y 466466400 796,929.2 796,929.2 -
- Canhwlnip pOnyph wyp SwrwjnunLGbEn 4239 796,929.2 796,929.2 -
2. D3WE6T 17AG64I46Y 29,634.0 29,634.0 -
- Canhwlnip pOnyph wyp SwrwjnunLGbEn 4239 29,634.0 29,634.0 -
3. U»A=36313Y IAAdoAlasy 3,490.5 3,490.5 -
- Canhwntp pGnyph w)p SwrwjnunLtGbtEn 4239 3,490.5 3,490.5 -
4. Ci»14/3Y 1AA&64Ia5Y 15,693.8 15,693.8 -
- Canhwntp pOnyph w)p SwrwjnunLGbEn 4239 15,693.8 15,693.8 -

2950|109 | 5 | 0 |A87 USI3A13IY»AC 41363136 - 40 1,740,613.6 1,690,613.6 50,000.0
TAA&oAla6Y
anco’

2951|109 | 5 | 1 |2AWS1ARA6ST3Y 1260 C3ASTaoAlasY 1,740,613.6 1,690,613.6 50,000.0
31 ATa0
1. 2AT318A46313Y 136 7 C3A3140AI46Y 1,602,531.9 1,602,531.9 -
- Canhwlnip pGnyph w)p SwrwjnunLtGbEn 4239 41,384.3 41,384.3 -
- Untpuhnhwtn ng howluwywlb wyhnwywo 4511 1,561,147.6 1,561,147.6 -
(N=3U3YU=ICY) T3%UST»AAA0AIAY Y »ACY
2. 2AT318A46313Y 13403 I»A8406A146YY»AC 50,000.0 - 50,000.0
NCUY=3Yana - 460 = I»A=Yana- 46U
- P»YU»AC ~ RCYASAIAGYY»AC TSACT 3t T»A3Yana-40U0 | 5113 50,000.0 - 50,000.0
3. «<wynp YngmwGy Yppwhwduwihp MNUY- 6,474.0 6,474.0 -
40U BAT3187a6313Y 136 A C3A3140413Y
I=3pU=31»A8400 (A3 1 iCAZ1T31
EC3YBAAAGAIAGY Y1)
- Canhwlnip pGnyph w)p SwrwjnunLtGbEn 4239 6,474.0 6,474.0 -
4. CASABTII3Y ~ 3Ai»é 7 ¢ 1&A46Y»AaiU 81,607.7 81,607.7 -
3y- 3cY £3A3BICY " =403UcY YIS - SA3YY»ic
- TaT 466466460
- Canhwlnip pGnyph w)p SwrwjnunLtGbEn 4239 81,607.7 81,607.7 -

2960 |09 | 6 | 0 | TAA40AI=YA TA3U31A740 GA3Y13T 584,707.0 34,707.0 550,000.0
T363/asAlacyy»a
anco’

2961|109 | 6 | 1 |TA&AISYA wASU31iiTa0 0A=3Y13T 13¢3(40AIa0Y Y»i 584,707.0 34,707.0 550,000.0
31 ATa0
1. UBE318A46313Y N36 w3 40Ala0YY»i¢ 577,000.0 27,000.0 550,000.0
NCUY=3Yana - 460 = I»A=Yana- 46U
- P»YU»AC " T=é40l6Y»AC AYAS6CT Yana- &i0 4251 27,000.0 27,000.0 -
a=N&=vail
- P»YU»AC ~ RCYASAIAGYY»AC TSACT 3t T»A3Yana-40U0 | 5113 550,000.0 - 550,000.0
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“ e 3ICY TSESHTC - anl=363T3Y 1563137 U3y

=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 3 = AVIS(sYA
c = g 3 G Swfuubph LG Y = ” G anwihG
&2 3| E2 pnLebnwih( dwiuubinh wlnbuwghinwywl = Junswyw pnigl | dnlnwghl pynegt
LT 1353137 U3Y NALT3TV»AC SYT3YAUY»AA £
1 |23 |4 5 6 7 8 9
2. 8A46313YY»AC QECUAC313Y»AC ™ 3 7,707.0 7,707.0
UCcd63646UY»AC 133503 1»A&46U
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 7,707.0 7,707.0
3000(10|0 | O €ao0k=2t2T20 a42pT1a=20a0Ala0U 615,793.4 615,793.4
31 ATa0
3070(10| 7 | O | 846C3E3T3Y N3 adl 3ATEYA0AIA6YY»A (3IF 408,287.6 408,287.6
13»ACY 48371 T3Y40)
&RCo
3071|10| 7 | 1 |@40C3E3T3Y N=wasT SAwAaYasAlasyY»h (3l 408,287.6 408,287.6
12E»fCY 4831 T3Y40)
31 ATa0
1. 40C338»6 3Y3E3NAT AYT3YCUY»AC 3,065.0 3,065.0
»A»E3Y»AC N3Y - 6 1C I33U31»A&4o0
- &iNC T eSAUSTARAUY»AC T3ROST3ta0AlasY 4216 2,340.0 2,340.0
- Canhwntp pOnyph w)p SwrwjnunLGbEn 4239 225.0 225.0
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 500.0 500.0
2. D3A3Y37 446Y»640 3Y03Y6 33,574.0 33,574.0
E40C338»6 3Y3E3NAT AYT3YCUY»AC
N3U3A Na603Aa1=314A40AI3Y 13303 1»>A8460
- Canhwntp pOnyph w)p SwrwjnunLGbEn 4239 33,574.0 33,574.0
3. B40C3E38»6 BY3E3NAT AYT3YCUY»ACY 175,363.6 175,363.6
VAYSI3Y T NCB3USIC Of»ACY S¢31640Al46Y
- asiuC T eSAUBTARAUY»AC T3ROST3ta0AlasY 4216 500.0 500.0
- Canhwnip pGnyph w)p SwrwjnunLGbtn 4239 4,365.0 4,365.0
-D3TA YAST3T3(CY 3 ViasA»h 4269 8,800.0 8,800.0
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 136,808.6 136,808.6
- W Guwuwnbbp pinuobihg 4729 22,780.0 22,780.0
- UTCA=T TasAlasyY»i 3l s=fasld al>r=av1ad 4819 2,110.0 2,110.0
T3UUST»AA4&0AIAYY»ACY
4. E40C3E38x6 3Y3E3N4T 3Y03Y6 174,985.0 174,985.0
Sc31640Ala6Y
- &siuC T eSAUBTARAUY»AC TROST3ta0AlasY 4216 4,320.0 4,320.0
- Canhwlnip pGnyph w)p SwrwjnunLtGbEn 4239 12,720.0 12,720.0
-D3WAT YA 213(CY =3/ VidsA»h 4269 1,825.0 1,825.0
- Untpuhnhwtip ng wbunwywa (ng hwduwyGpwihl) ng 4521 2,400.0 2,400.0
YCY3YE3T3Y T340 T»AA4&0AIA0Y Y»ACY
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 28,250.0 28,250.0
- W Gwwuwnbbp pinuobihg 4729 42,700.0 42,700.0
- UTCA=T TasAlasyY»i 3l s=fasld al>r=av1ad 4819 82,770.0 82,770.0

T3UUS3T»AA4&0AIA0YY»ACY
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= ol “laie»>WSCY TSES»AC - afl=63T3Y 136313703y | 3 ATas0

= = % 3] o pwdhbltnh, fudptph L nwutph, hbswtu Gub = = AVL30»YA

c = g 3 G Swfuubph LG Y = ”

wm = 2| E2 pinLetinwih( dwiuubiph tlinuwghunwywt c= Junswyw pnigl | dnlnwghl pynegt

LT 1353137 U3Y NALT3TV»AC SYT3YAUY»AA £
1 |23 |4 5 6 7 8 9

5. P3E3A3I3I3Y I3BU3I»AR40AIA6YY»ACY 21,300.0 21,300.0
Sc31640Ala6Y
- UTCAS T Ta0Ala0Y V> 3(E 8=NadlA al»1=&v140 4819 21,300.0 21,300.0
T3UUST»AA4&0AIA0YY»ACY

3090|10| 9 | O |E40C3F313Y 4381 a3YaoAlaoY (3IF 207,505.8 207,505.8
13»ACY 4831 T3Y40)
&RCo

3091| 10| 9 | 1 |@40C3E3T3Y A3RTASYAAIATY (S 13ex»ACY 207,505.8 207,505.8
3A3T1=2Y40)
31 ATa0
1. 46C3F313Y (- Ya0AI3Y [3E3g0AIA6Y Y»AC 207,505.8 207,505.8

- A 140Y»a6AI3Y 1330318400

(BT ICAZTT3I EC3%aN40AI40YY»1i)
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 163,583.4 163,583.4
N3 T»E3 Tx3AY»A
- 846C3E2T3Y 233(AT40AI3Y Tx3AY»A 4131 32,978.1 32,978.1
- WY»A-»WCT 1263(a0AIa6YY»f 4212 3,962.5 3,962.5
- Tal&sY=3t 1=363{a0AlasyY»h 4213 180.5 180.5
- T2AC 1363{a0AlasYY»h 4214 1,783.1 1,783.1
- 400G T eSAUSB TARAUY»AC TA0ST3E40Ala5Y 4216 375.6 375.6
- U»AUCY - &fiT450460Y»f 4221 48.0 48.0
- @HU»YRY»AC 630 TafaiUY»A¢ AYA=46CT 4252 150.0 150.0
Yafia- 4ol ~ a=N&=Yail
- TASE»YI=T3ICY YidsA»A ~ N=- 406w 4261 2,947.3 2,947.3
- TASYEAAAT3ICY YiaoAx»f 4264 1,460.3 1,460.3
- T»Y6303(CY ~~ NSYASICY eYY1C YiadAxf 4267 37.0 37.0

3100(11|/0 | 0 PAEGU=2T=2U ~2A£0U°8EU a_ 28140 2,706,152.5 4,826,454.9

a2padéT=20kU tal _°s

31 ATa0

3110| 11| 1 | O |PP IBE63T3A40AI3Y ~ N3U3IYOY»A¢ 2,706,152.5 4,826,454.9
a3Naoe 13y yayr
&RCo

3112 11| 1 | 2 |bb NS3USIYUY»AC &=Najen=(CY yayr 2,706,152.5 4,826,454.9
31 ATa0
- a3Nasen=ICY UCcasY»f 4891 2,706,152.5 2,706,152.5
-{wunyuwgned wwheunwhl $nlnhg $nlnuwhb pniok X - 2,120,302.4
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